What is common scale used to measure temperature?

(A)  Celsius (B) Fahrenheit

(C) Kelvin (D) (A), (B) and (C)
QauliLgans SerdsLLLETLHSSLILIHILD 6Tel(HSET eremen?

A)  Qeeflwev (B) Gupemad

(C) Qsevelen D) A), B) wpmywbd (C)

Thermometer is commonly used to measure

(A) Temperature (B) Height
(C) Weight (D) Weather
QgrCLMBLLT eTeng Sjarés LwearL(Hng?

A)  Qeuiublene B) 2 wrmb
©) e D) euralene

Which one of the following substance has very low specific heat capacity?

(A)  Mercury (B) Glass

(C) Earth (D) Copper

Y etmeu(meuaTelHMIET 6Tgl G MBS Senbleulill FrHLSS mer ClameurLg)?
A) Qg B) sawentmyg
C€) gy D) smiumr

Which one of the following material is not come under the Class A Fire?

(A) Wood (B) Paper

(C)  Plastic (D) Computer
Yemeumeuameumile erg Class A Fire 19fafle auymg?

(A) LDILD (B) sl
(©)  Qarmevig s (D) senfla

Which one of the following material fire can be extinguished by smoothing method?

(A) Oil (B) Paint
(C)  Petrol (D) (A), (B) and (C)
eTbg Qummatiled LB Sew epdasHarmrd SemanésliLBSng?
Q)  <ule (B) Quuesr
(C)  QuiCprev D) A), B) wpmwd (C)
3 029/DM/18
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6. Which one of the following fire extinguishing media is more suitable for Class D Fire?

@A) CO (B) Special DCP
(C)  Foam (D) Water

oTb% 6p(h SwenanriLimer Class D 196l @ Qunmbsiomeng)?

@A) CO B) &puyDCP
C) mer D) gawenti

7. Which one of the following is suitable for Class A, B and C fire?

(A) Water (B) Foam

(C)  Dry Chemical Powder (D) CO:

Wetreu(meuareupmer org Class A, B wpmib C cuens § elluiggise@ Qunpssomerg?
&) et B)  pooy

(C) o emomey (D) CO:

8. Limiting the fuel is the method of

(A)  Smothering (B) Starvation

(C)  Cooling (D) Heating

ar@urpLsmer sL_HLLOSSH S AMETEGLD (PanndHiE — eremy GlLwim?

@A)  epis Hewrmed B) ulgelCurhse

C€) Ealiellsze D) Qautuliu®ggiHeD
9. Starvation is the process of

(A)  Air control (B) Fuel control

(C)  Heat control (D)  Oil control

Ul g @l CUThFeD crerLig)

A) s sLHLILOSFIES (B) efQummener s QUL SSI6uUG

(C) Qauliugens s HULBHSS 6 D) <yuleme sl HLiuBsges
10. Which one of the following is not an extinguishing agent?

A COo B) CO:

(C) CCl4 (D) Halon

1GletTeu (heueTeL DMIET 6TE) SN HEMEMTEHGD CUTL| B{eDa0?

A Co B) CO:

(C) CCl4a (D)  Cameverr

029/DM/18 4



11.

12.

13.

Smallest unit of pressure?

(A) Pascal
(B) Newton
(C) Bar

(D) LP

(PESEMS SeTHEGD S 60 eTeTen?

(A)  umevsed

B)  Bluyen
©) unm
(D) LP

Which one of the following statement is correct?

(A)  Fluorochemical — has poor burn-back resistance
(B)  Fluorochemical — has high burn-back resistance
(C)  AFFF — has slow drainage rate

(D)  FFFP —resistance fuel contamination is poor
Yemeumeuarelpiled Fflwmenens Gse| GlFuis?

A)  SUCermCrrallsse — @anbs ermelLmmeT erdliiL
B)  SLCermCrrmlslssed — oidls erflCummer erdliiL
(C)  AFFF — geoonbs cuigsred eldsb o drerg)

(D)  FFFP — erfl@Qunmer wrsur(® erdliiy Simen @anmey

Foam compounds of protein are

(A)  Protein material + Certain acid

(B) Hydrolyzed protein material + certain salts
(C)  Hydrolyzed protein materials + certain acid
(D)  Protein foam

LrsSE 6 2 GT6T HIEN]T S60EneUEHET

A)  yrs Qun@pLlser + fe jbled

B)  @an’ Crradlev Lrg QML geT + flev 2 LiL|geir
(C)  ean’ Crmedlev Lj7s QUL ger + Sl sl
D) yrsb may

029/DM/18
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14. Protein — to make foam compound its required level of concentration is

A)  3%to6% (B) 4% to 6%

C) 2%to6% (D) 1% to 6%

Bl sevenal Gaiw LiCrmigen Cadlalen jere ———— Cgenaiwins o _crerng)?
A) 3% s 6% B) 4% apsd 6%

©) 2% pge 6% D) 1% s 6%

15. What is the Low expansion of foam ratio?
(A 2:1to20:1 (B) 2:2to020:20
(©)  1:2to20:20 (D) 2:3to020:30

mienrulilen Genmbs ellfloumss ell&lgin eremen?

A)  2:1 gpge 20:1 B) 2:2 s 20:20

€)  1:2 s 20:20 D)  2:3 apsed 20:30
16. What is the Medium expansion of roam ratio?

(A)  20:1to200:1 (B) 2:20 to 20:200

(C)  10:20 to 20:20 (D) 20:30 to 200:300

wienrullen pHSST ellfleunss eNllgn erenen?
A)  20:1 gpsed 200:1 B)  2:20 @pser 20:200

(C)  10:20 apse 20:20 (D) 20:30 s 200:300

17. What is the high expansion of foam ratio?
(A)  200:1 to 2000:1 (B) 20:200 to 200:2000
(C)  10:200 to 20:200 (D) 20:300 to 200:300
mienTullen =idls aflfleurss elldlsLd eremen?
A)  200:1 wpge 2000:1 (B) 20:200 wpge 200:2000

(C)  10:200 pse 20:200 (D)  20:300 apge 200:300

029/DM/18 6



18.

19.

20.

21.

The expansion of foam which not depend from the following

(A)  Branch pipe design (B) Type of foam concentrate
(C)  Operating pressure (D) Surface air
Yemeu(meuarelpiled mieny ellfleunsasdlanar srnsg) e1g)?

Q)  Sevar@pmi allgeieLiLy B) meny Aadley cuens

©C)  Qusssdler oi(pssLd (D)  Guwpurliy srHm

The expansion of foam measured by

(A)  Comparing the weight of foam volume of the finished foam
(B)  Level of foam solution

(C)  Level of foam quantity

(D) Level of foam quality

BT ellfleumdsd eTgen epeuld erell LIS g ?

A) wpyssliulL BT eTe| wHMID BienTuller erenl eIl (h

B)  meorssialer ieray

C)  merer oere

D) mey srgHen sieray

Which one of the following Foam bubble size is not determined by the size of?

(A) Hose (B) Nozzle

(C)  Quality (D) Pressure
Werreupeuameuddled HienT G Sjatey eTeng QUTMISE STorelssliuLeildamen?
A)  piref( @l B) e (préle)

(C) sy D)  @iwssbd

When the cracking jets are created?

(A)  Oil entered into water (B) Foam entered into water
(C)  Air entered into water D) @A), B)and (C)

erlQumpgy) Slmsdlin Gl 2 (meurdlmg)?

A)  sawerie erawTClentl Hevd&EL CuTg (B) sawertfle mieny so&@EL Cug
(C)  sawentied sTHH HO&EEL GuiTg D) A, B) wpmw (C)

7 029/DM/18
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22.

23.

24.

25.

Which is the prime mover of the centrifugal fire pump?

(A)  Engine (B)
(C)  Gear Box (D)
Qaahriq Mol 1wpsa LbeL GusED 568 o152

A Qepdlan (B)
(C)  Awi urse (D)

How often the vacuum test should be conducted?
(A)  Every month B
© Quarterly (D)

PTO
(A) and (C)

PTO

(A) wpmio (C)

Half yearly

Yearly

ETEUGIGTE| BITL_&(@H&E (1 (Penm Ceuddlu,b ClLevl QawliL@hdng)?

A)  gcuaeumm wrgpbd (B)
(C)  sremagnd D)
Abbreviation of PTO

(A)  Power To Operate B)
(C)  Power To Open D)

PTO-éam elfleunsssin
(A)  Power To Operate B)
(C)  Power To Open (D)

By which the engine power is transmeter to pump?

(A)  Gear B)
(C)  Primer D)
ereucumm @ @hdlafen 68 LIbLGE wTHOUILHEDE?

Q)  Hwurursav (B)

(©)  Yevywor D)

029/DM/18 8
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26.

27.

28.

29.

What kind of cooling system is available at the tender?

(A)  Open circuit (B) Closed Circuit

(C) Both (A) and (B) (D) Not (A) and (B)

SwenanriiL oarlufled eretmar euanSWITET FFFLILIHSSD (LPEnD 2 6Terg)?

&) Sobs sHo B)  pyw sHo

© A wpmib (B) GrairGid D)  (A) wpmid (B) @yair@hbldema

Where the thermostat value is used?

A  AtPTO (B) At Radiator
(C) At Pump (D) At Gear Box
Qg TCLmevCLL aumee 6Tmhi@ LweTUHiEng)?

@A) PTO-ga B) CrgCwi e

©)  uble D) Hwrurseslen

Which type of mounded fire pump is available at service?

(A)  Front mount (B) Rear mount

(C)  Mid mount (D) Top mount

Teuedsions — @eamsELILL L LbLSET SLamariy gionudd o drang)?
A)  er QevemTdsliul L B) Ve Qevemrésii L

C) phHetle Qavemmaasliil L (D) Cuwe Gamenrssiul L

Normal Length of suction hose is
(A) 15 feet (B) 45 feet
(C) 55 feet (D) 75 feet
TS TIERTLONS o (f ¢ @pmulan Harid
A) 15 9y (B) 45 oyg

(©C) 5594 D) 75 =g

9 029/DM/18
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30.  Tachometer is used to measure
(A)  Speed (B) RPM
(C)  Pressure (D) Heat
QL&ECHTBLLiT erang oiamds LemL (g ?
(A)  Geusld (B) RPM

C)  <yssbd D) Qauliub

31. Ultraviolet rays are absorbed by which layer?
(A)  Ogzone layer
(B)  Exosphere
(C)  Thermo sphere
(D)  Mesosphere
4 2a15T &ETa6T eThg S (HéHleamma o Mlersliuhdng?
Q)  @Gsmer LLeld
B) Lmeuefl LerrLevld
(C)  GQeudiu Q&G

D) BGCsr M&E

32. What is the color of town gas flame?
(A)  Dark Blue (B) Dark Green
(C) Darkred (D) Dark violet
Qemetr eumu| FHeumeneoudlen HlmLd eTemen?
A)  smBeob (B)  s@wb uFns

©C) LT feuiy (D) <L oagm

029/DM/18 10



33.

34.

Which of the following is not a disadvantage for radio based automatic fire detectors?

(A)  The initial capital cost of the equipment is relatively high

(B) The system has to be designed very carefully to avoid clashes of frequencies

(C) Temporary screening may occur

(D) It is quick to install with no wiring

Wetreu(meuameumer CrigCuim g lineLuleoner grafwnd § sar®Gig iurays@E Qg e G®num(h
96060 ?

Q) 2 usyavmseien <L ppogsar Gewey UL L atelld iFlswrs o drerg

B)  odrCeuarsafler Gonsasamer 56lT&s LBlsa b SeUaTOTS allgelamds L. CeuemT(hib

(C)  sperels Hanyudled FHLIL LD

D) @& cuwifli Geewed ellenreuns Hlmeuaid

Which of the following is not a advantage for radio based automatic fire detectors?

(A)  Itis quick to install with no wiring

(B)  The risk of wiring damage which could isolate several detectors is avoided

(C)  The location of the detector is flexible

(D)  The initial capital cost of the equipment is relatively high

Wetreu(meuameum ey Crig Cuim gt wlerer sraflwnd § sar®i9igLILTa)dEE®E, BTaLD DTS
eTgl?

A) @s cuwifli @demoe allenFelrs Hlmieiebd

B)  ue sar_hgosmer saflenbliLi(hSsEmlqw euwfln Caggdlen oumub gellTaslLbHSng

(C)  sam®ligliumer erhi@ GouamBremaILD GlLTHSSEOMD

D) 2 usyavmseien <L ppogsar Gewey UL L atelld iFlswrs o drerg

11 029/DM/18
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35. Which of the following is not a radiation detector?
(A)  Infrared detector
(B)  Ultraviolet detector
(C)  Ionization detector
(D) Not (A), (B) and (C)
e (peiamaiddle ey &5 flEs sar®iGig 1L aiems Qdhama?
QD) ssfleuliy sa(Hig LiLimer
B)  ymoasm seT(HIblg LT
©C)  gGurmearGsage samr(h g LiLimer

@) (&), (B) wipid (C) Geee

36.  Which of the following is not a smoke detector?
(A) Ionization detector (B) Optical detector
(C)  Sampling detector (D) Metal detector
Weeu(meuarelHPled eTgl Liend Sevr(hLlig LILimen @)benen?
A)  gCwuramarCrager s ()L LiLime B)  <ligssd sarhigLiLimer

(C)  esmbliefn sarHGig LiLimer (D)  QulLé sar@®illigliLimer

37. LED stands for

(A) Light Energy Diode (B) Light Emitting Diode
(C)  Light Escaping Diode (D) Light Effect Diode
LED ereuigy

(A)  Light Energy Diode (B) Light Emitting Diode
(C)  Light Escaping Diode (D) Light Effect Diode

029/DM/18 12



38.

39.

Which of the following device is an electrical device that converts the energy of light directly

into electricity?

(A)
(B)
©)
D)

Ammeter
Voltmeter
Photoelectric cell
Torch light

Yemeu(md snsahisafle erg) eafl #&Henw Corgwins Wlengsdwims wrhHHlenLEED L6 FTSETLOTELWD ?

(A)
(B)
©)
D)

SO LT
Geumedl B
Cur_GLr erevdig & Glged

LTT& enevL_

For what reason some times an air valve is fitted at the highest point in the dry riser pipe?

(A)

(B)

©)
D)

To allow contained air to discharge to atmosphere when the riser is charged

with water

To allow contained water to discharge to atmosphere when the riser is charged
with air

To allow contained air to discharge to atmosphere when the riser is charged with air

To allow contained water to discharge to atmosphere when the riser is charged

with water

qeny Qrist @mlier s o wibg Lereflude) em eumency Fo Crrmigafley QuTmSSLILIHUSHE

SHITTETLD GTGITGUT?

(A)

(B)

©

D)

Qruigfer seawantt HlyblGuerer Curg oigeyedm oder  stpdlever  euaflbETL S DS
GeuetlCuipmieusH @S
Qrusfer smhmy  BHrbduydrer Gurg  oigeyedr odrar  gaweneny Geuaflweim_wdde
QeuelCunmieusH S
Qrsfled  smhm  BlrbQuerer  Curg  isaier 2eter  sTHHlener  Ceuet e sl
QeuelCunmieusH S
Quuisfler  geawentt HlybQujdrer  Curg iseyer odrar  seamentany  cuafloeT @SS
QeuaflCupmieusHE

13 029/DM/18
[Turn over



40. Which of the following is not the part of ladder?

(A)  Rope (B) Heal
(C) String (D) Round
EpsarTeundled o8l ramtl LigH den?
A) sy B)  abe
€) ey D) payer

41. In ladder, what is the distance between the round?
(A) 250 mm to 305 mm (B) 208 mm to 350 mm
(C) 280 mm to 350 mm (D) 280 mm to 305 mm
gewtlufled @ rer(h Lilg&@h&E @enlCw 2 eter @ant_Cleuet eramen?
(A) 250 A5 @psed 305 OIS (B) 208 815 apged 350 S
(C) 280 15 wpsed 350 LOLS (D) 280 915 upged 305 OB

42. What is the net weight of roof ladder?

(A) 16Kg (B) 18Kg
(C) 42Kg (D) 5.5Kg
Fa.aniy erewtlule QIoTSSE cTemL_ cTeoTen?

(A) 1644 (B) 1844
(C) 42 44 (D) 5.5 84

43. What is the length of two piece roof ladder?

(A) 16Kg (B) 18Kg

(C) 42Kg (D) b5.5Kg
@ uEHsdr QamearL gaany erentluller QDTS cTenL 6TeTen?

@A) 16 84 (B) 18 44

(C) 42 44 (D) 5.5 84

44. What is the length of hook ladder?

(A) 3.1 meter (B) 4.1 meter
(C) 5.1 meter (D) 6.1 meter
Qansdl eramflufler Barid ereimen?

A 3.1dcLm B) 4.1 8o
(©) 518 M) 6.1 8L

029/DM/18 14



45.

46.

47.

48.

49.

Which of the following is not correct in Turntable ladder operation?

(A)  Plumbing (B) Elevation

(C)  Extension (D) Communication
Yemeumeuareummled 6T FLpCens eramtludler CFwdur(hsaia 6rg seummeng)?
A QGerb G B)  adCouagen

©C) Bligsse D) sbwelCsager

In Turntable ladder, which switches is control two hydraulic rams?

(A)  Mercury switch (B) Dead man’s foot button
(C) Emergency device (D) Push button

FpOCeng erewtludler Ligsamer @Wwss eThg LILL e LiemU(HiSsLLhEmg)?

A)  Qurgf ulLer B) QL Gueren Ly L' e
(C)  Sjeusr gngenid D) yeyulLen

Which one of the following is not a safety indicator in Turntable ladder?
(A)  Safe load indicator (B) Warning light

(C)  Field of operations indicator (D) Remote control
etreu meuemeum e eTg &Lped Goang erewtludlan LigiamiiL| @6 CaHl LT j6e?
Q)  urgsTiurer &emw Sl (B) ergsisans epatl

(©) Qoweur® sy (D) Qgrene Quis

Mets turntable ladder depressed below the horizontal to a maximum of

A) -50°C B) 0°C
(C) -17°C D) -90
Mets turntable ladder erewfl Slanoi L B g i) —————3d&@ S Caeravng;?
A) —50°C (B) 0°C
(C) -17°C (D) -90

In Hydraulic platform “SWL” full form is

(A)  Safe working ladder (B) Strong working loads
(C)  Strong working ladder (D) Safe working loads
eanL_rredlé erm_Limib-e» “SWL” eremmuigy
(A)  Safe working ladder (B) Strong working loads
(C)  Strong working ladder (D) Safe working loads
15 029/DM/18
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50. What is round in ladder?
(A)  The rope of a ladder (B) Bottom of ladder
(C)  The rung of a ladder (D) The string of a ladder

geantlufled peyenr(® (Round) eresrLigy eremen?

Q)  gamfluler sullm B)  gaflufer SpuiEd

C)  gamfluler 2 meneTiiLig D) gailuler ensg_Lib
51. One bar equivalent value of mercury?

(A) 76 mm B) 760 mm

() 7600 mm D) 7.60 mm

Q@ LITT A(pS5553 D& G enanriimer Glom@ T ieme, eTeimen?

(A 7618 (B) 760 5.8
(C) 7600 LAS (D) 7.60 8
52. Which of the following is not related to fire service equipment?
(A)  Hydraulic platform (B) Turntable ladders
(C)  Breathing apparatus (D) Machine gun

Yetreu(meuareupiler & Caamousgianpu|Ler QsmmAdensg erg)?
A)  eanl greds Ferbd B)  spoGuoas eranflaer

(C)  seunsssmeiger D) Quidrgiiunsd

53. What is splash suits?
(A)  Chemical protection suit (B) Rain coat
(C)  Under water suit (D) Breathing apparatus
eVLGleTmaig (&L GTETMTe) GT6uTen?
A)  @rerwent LTESTLIL 2 epL (B) wenip Cami

(C) et euml L @ D) apsssama
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54.

55.

56.

57.

Which of the following will provide adequate protection against most chemicals?

(A)  Rubber boots (B) Torch lights

(C)  Plastic bags (D) Paper boots

EpaarT_eumMled GlLIHLOLITQTET @) FF TN RIS @EhEE 6T Frs CLITGIOTET LINgSTIamL aULpEIGeUS) 6T8)?
A)  glhoryle (B) efers@er

(©)  Qarmevig & eLISGET (D)  srélg Y ev

Which of the following detailed record should be clearly marked for chemical protective suit?
(A) Dates and occasions used

(B)  Nature of incident

(C) Chemicals involved and method of decontamination and cleaning

D)  (A), (B) and (C)

Epsareupdled eThs efleurd eflfleurer Ldeysear @remueant UTESTUL 2 L dgrear @GOG Ggefleurs
@Ot Ceuar(Hib ?

A)  Csd womib sbaTuBISil®d LWaTLHSSILIL L 6fleurhd
(B)  sbusugdler alleuyd
(C) Q59885606 FDWLHSLILIL L OHMID SMUMDWTESD HMID &S GeFwin L efeurb

D) @A), B) wpgd (C)

Which of the following is not deal with resuscitation?

(A)  External chest compression (B) Carotid artery
(C)  Open airway (D) Kidney
Yemeumeuamalmmled CFaflolL_sa 6 FIDLBSOOTSF] 6TE)?

A)  Qeueflliyp iy S(PSSLD B) &sGymgL gwaenfl
©)  Smps smhmeu D)  Sgiyso

Which of the following is not correct for adequate airway to the casualty?
(A) Head must be tilted back to prevent the tongue from blocking the windpipe
(B)  The nose, mouth and throat must be cleared of mucus, vomit
(C)  The eye, mouth and throat must be cleared of mucus, vomit
(D) The ear, mouth and throat must be cleared of mucus, vomit
SNlLIG &G eTerTen e(heu(hdh@ CUMg|omen STHME &HLPHE &S ereumLd ot sflwimeng ?
@A)  epiasdanane $HES BrEms &HES same L &E&Gaue(HLb
B)  eps@, cumi LHMID Qgramen Fafl curnhd BssliL g (HES CeueiT(HLD
(C)  sar, eurls wHmID QsrairenL Fafl eumbd BssiLIL g (HES Coueim(Hib
D)  srg, eumd HMD Qsremen Fofl eurbdl BasiLIL g (s Couetm(HLd
17 029/DM/18
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58.  Artificial respiration by non-mechanical means can be divided into how many categories?

(A) One (B) Two
(C)  Three (D) Four
Quinerswrer HeUrgld ers Quindly eudlipenmaamer erdseanen Wifleurs 19N &g mD?
A) e B)  Qrar(
C)  epery (D) pren
59. How should you open the airway of an unconscious casualty?
(A) Headtilt (B) Jaw thrust
(C) Eyetilt (D) Eartilt
erlitlg e Hlenaney @l 2 arerauflen srhmliLiTangeaw Fnéss Colamr(hHib?
A)  so®sTlSF B) sreL 2 pgise
(C) sawarligg (D)  srg enlsg

60. In which relay system all the fire pumps should prime?

(A)  Open relay (B) Closed relay

(C)  Both (A) and (B) (D) Not (A) and (B)

TIhS ST T HL_SFID (LPedDUAD LIDLIEET Sanadgib Wanyib Qe Ceouemr(Hb?

&) ops som) B)  epyw sHo

©) A wpyid (B) @rewr@®id D) A) wpmyd (B) Grem®ildvama
61. How many loops in “hammock”?

(A)  One loop (B) Three loop

(C) Two loop (D) Four loop

“hammock”-éb er§sener grs 2 ararg)?

@A) @6 B)  epamm g

©) @Quer® e (D) et qurl

62. Which knot is used to shorten the bright of a line temporarily without cutting it?

(A)  Chair knot (B) Sheep shank

(C)  Bowline on the bight (D) Running bowline

@ sullhenm Ceul Lo g6 Barsens SHETOIHLNS @G DdHs LETUHLD (plg & 6Tg?
A)  Gemprl B) &L Cagmis

(C)  Cumeever <yem & el D) yenefm Cumreneve
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63.

64.

65.

66.

67.

Water man’s hitch is sometimes called as

(A) Lighter man’s hitch (B) Timber hitch
(C) Cats paw (D) Bowline
Water man’s @ § —————— eTauma b Senp&HHOTLD?

Q) ool Goerey @)L & B) gouT@ls
(C) GCslevum (D) CGumemaen

Which knot generally used by float crews?

(A) Reef Knot (B) Fisherman’s Knot
(C)  Overhand Knot (D) Figure of eight Knot
THS (Plg&a BS&GLD G pssarmed LwaUhSSIUOSH g ?

@A)  fuprt B)  SlevaprCeirev BTl
(C) qaurCaner mm (D)  Selism ot erudll prt

Which knot is useful for hauling a baulk of timber?

(A)  Waterman’s hitch (B) Fisherman’s bend

(C)  Timber hitch (D) Bowline

LI(HLOGITTEN 6(T Logddlanen giés 2 LGUTSLILIHSSID (plg&d 6TEI?

Q)  eurliiev Goer QL& B) SUevayrCeren GlLie
(©) gburT@Lé D) Cumenevest

Which knot is principally used for attaching a line to a hook?

(A) Cats paw (B) Bowline

(C)  Timber hitch (D) Fisherman’s bend
sullpmlener Qarsdluded wm’ L LwemUhSSILHLD PSEWLDTET (Plq.&d 6T ?

A Gsilevum B) Cumeeven

(C) gbuT@Lée D) SueveagrGemen Glue

Which is an alternative knot for “Round turn and two half-hitches”?

(A) Cats paw (B) Fisherman’s bend
(C)  Timber hitch (D) Bowline
“Round turn and two half-hitches” -gamer wrHmy (P &a 18 ?
(A  Gslevum B) JueveayrGoeren Glue
(C) buT@ls D) Cumeneven
19
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68.

69.

70.

71.

Which knot is used as stopper knot?

(A)  Figure of eight Knot (B) Fisherman’s Knot
(C)  Overhand Knot (D) Reef Knot

TS (Plg&& evLmium Bl (stopper knot)-<i,6 LwetL(HSSILGS DG ?

A Slsi eyl el pr (B)  SlicvagiGoeney Hr
(C)  qaurCaner pm (D) st

Which can be used to carry out the water pressure test?

(A)  Delivery hose adopters (B) Hose reel adopters
(C)  Suction hose adopters D) @A), B) and (C)
saantt 2i(pss LMCangamenuier (pertlear(hasliL(Heig) g ?

A)  BrelpErpr Qeaenridsdr B) qevifer Gavenriiaser
(C) B2 Meps Gomi @eneantliGser D) @A), B) womw (C)

Which of the following is not correct?

(A)  Collecting breeching normally have 2 inlets and 1 outlets

(B)  Dividing breeching have 1 inlet and 2 outlets

(C)  There are five types of suction strainers used by brigades

(D)  Branch pipe is used at the end of delivery hose

1Yletreu (meuemeu D MlEd 6Tl SeUmTag)?

Q)  sQosym GFfF8n Qurgeurs 2 2 eretf(® LHMID 1 Ceuafui(h Qsmem g
B)  yemeugm AFFAB eraLg) e 2-emat(® HMID 2 Ceuafui®h Qsmem_g

(C)  =mbgl cumswiter 2 MlEhabd algsligs6r SwemeariCumrmed LwearuBSsLILOSH DG

D)  devars@prd BrelG@pruier s ule LwauOSSUILHE DG

As per NBC storage building comes under the classification of

(A)  GroupD (B) Group G
(C) Groupd (D) Group H
NBC-eérLig CailiiL) gL 1b 6Thg cuangullan E1p aumSmg?

(A)  GroupD (B) Group G
(C)  Groupd (D) Group H
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72.

73.

74.

75.

76.

As per NBC all Banks comes under the classification of

A E2 (B) E1

(© E3 (D) E4

NBC-aLig oienansg) eumbidls@pid 6Tbhg elansudler £@ NGEIEN;

A E2 (B) E1

(C) E3 (D) E4

As per NBC —————— width of staircases should be provided for Educational buildings.
(A) 1 meter (B) 2 meter

(C) 2.5 meter (D) 1.5 meter

NBC-arLilg. 606l &g &L 1q L BI&(@h&E —————— G Qararr Ligser HlmeulinL Geauamrhib,
(A)  18Cr B) 28

(C) 2.5d0Lm D) 1580

Sprinkler system shall be provided if basement area exceeds

(A) 200 m* (B) 100 m*

(C) 175 m* (D) 150 m*

&I L SE 6 2i1q SFETD 6ThHS AemallH @G @mpsmed Hrogefliiuimer Hlmeulit GeolaHib?
A 200 & (B) 100§

C) 175 & D) 150 &

Which of the following building required sprinkler system which the height of 15 meters and
above but not exceeding 30 meters?

(A) Apartments (B) Educational

(C) Hotel (D) Dormitories

15 Sl gpged 30 SLm qpgw oder Spsar. s sligmsEnsE BT Qgeflliumer
BlimeutiuL Ceuenr(Hib?

@A) EylmLyseT (B)  sevedl gniips HL1qL_BisET

C) e@lLa D) sRiED AEHS

Which of the following fire safety equipment shall not be provided in external areas?
(A)  Fire Extinguisher (B) Hydrants

(C)  Fire brigade Draw-off connection (D) Inlets

etreu(meuameuiled ergl sl gL sdler CeuafliLi@dule QurSSILLTS & LTGISTIL| FTSETD?
Q)  SwevamrliLimen (B) anl genev

(C)  Swevanrtiuimer g.7m-pU1 G anGagen D) @enCel
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77.  Minimum
A 4
© 1
vewmy s lq L Bigefle) Gammbg LIl Fib
A 4
o 1

78. D6 occupancy is

(A)
(©

Residential

Mercantile

D6 <ys8lridliiy eremmig

number of staircases should be provided for multistoried building.

B 3
D) 2
eramrantlsansudle Lig&sl (Haer blmieuCeuam(Hib?
B 3
D) 2

(B) Multiplex
(D) Storage

A Eyulmly (B) weéglierden
(©) Qurlsar6Ld D) GCadliiy
79. Generally fire lifts shall be provided with minimum capacity of ————— passengers.
@) 8 B) 10
©) 12 (D) 15
QUTgIEUNS oL LIWIT (011 @GenmBSLILL &L eTds enar GUm Liwail&EEh euamsuile @) mas Gauar(hib?
A 8 B) 10
) 12 (D) 15

80. Generally Refuge area shall be provided at

(A)
(B)
(©
D)

24 m and every 15th m
15t m and every 24th m
35t m and every 15t m

24 m and every 24th m

QuTgIeUTs: DL SHOLILEGS)

(A)
(B)
(©
D)

029/DM/18

24-eugy LS HMID epeuGleum 15 LS
15-6ugy 18 wHmibd geuGeumm 24 LS
35-6ug) L5 wHmib geeuGeumr 15 L5
24-6ugy) 8 HMILD eeuGleums 24

o euUpmISLILIL GeuemT(hLb.
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